
Quick check of the H3/He3 with 
part of the systematic correction



Basic Procedure
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• Ne :	PID	+ACC

𝑃𝐼𝐷 F
𝐿. 𝑐𝑒𝑟. 𝑎𝑠𝑢𝑚O > 2000											
𝐿. 𝑝𝑟𝑙1. 𝑒 + 𝐿. 𝑝𝑟𝑙2. 𝑒

𝐿. 𝑡𝑟. 𝑝 > 750

𝐴𝐶𝐶 F
𝜃]: ∈ −0.05,0.06 																
𝜑]: ∈ −0.03,0.03 															
𝛿 ∈ −4%,+4% 																			

𝑜𝑡ℎ𝑒𝑟𝑠 i
𝐿. 𝑡𝑟. 𝑛 == 1	 			, 𝑇2	𝑡𝑟𝑖𝑔𝑔𝑒𝑟			
𝑣𝑧 ∈ (−0.1,0.1)



Systematic Correction
• ECC: (-10cm	,+10cm)	for	all	Kinematic	Setting

KIN Tritium Helium
KIN1 0.021853892 0.028307946
KIN2 0.020286097 0.026412663
KIN3 0.016302875 0.021025946
KIN5 0.014454685 0.017594063
KIN7 0.01176781 0.013816999
KIN9 0.009388988 0.011232989

KIN11 0.006939431 0.008003037
KIN13 0.0055396 0.006503249
KIN15 0.004362285 0.005162994



• Positron
𝑌;o
𝑌;/

= 𝐴𝑒/pq

• Density
𝜌 = 𝜌s(𝑝0 − 𝑝1 ∗ 𝐼8t; − 𝑝2 ∗ 𝐼8t;u )

Target A B
Tritium 0.0778 8.026
Helium 0.1009 8.913

Target p0 p1 p2
Tritium 0.9999 -0.007399 3.16E-05
Helium 1 -0.004759 8.69E-05




